VYRAZY

. UMOCNOVANIi MNOHOCLENU




Pro Upravy mnohoclenu se pouzivaji nejcastéji tyto vzorce:

) (A+ B)? =A%+ 2AB + B

2) (A—B)?=A?—-2AB + B?

3) (A+B+(C)>=A*+B?+ C?+ 24B + 2AC + 2BC
4) (A+B)3=A4%+34°B +34B* + B?

5 (A—-B)3=A3%-3A?B +3AB?* - B3

6) (A+B)(A—B)=A%—-B?

7) A3+ B3=(A+B)(A% — AB + B?)
8) A3 —B3=(A-B)(4% + AB + B?)
9) (A+B)*=A"+4A3B + 6A%B? + 4AB3 + B*
10) (A—B)*=A*—4A3B + 6A°B* — 4AB> + B*

Vzorec pro A% + B% v mnoziné redlnych ¢&isel neexistuje.




)

2)

4)

6)

8)

10)

(c+d)? =

(x —10)? =

x% —20x 4+ 100

(—4+k)* =
16 — 8k + k?

(5ab — ¢)? =
25a’b? — 10abc + c?

(a? +0,1)? =

a* +0,2a®> + 0,01

(x> —1)% =
500 — D

A=c B=d
A2 +2.A.B + B? =

3)

3)

7)

9)

1)

c® 4+ 2.c.d + d?

(5+a)? =
25 4+ 10a + a?

(3y —0,4)* =
9y2 — 2,4y + 0,16

(3-5n)% =
9 — 30n + 25n?

1
a‘—a+-
4

(=0,5k —2)2 =
0,25k? + 2k + 4



12)

13)

14)

15)

16)

17)

(a+b+1)?% = A=a B=b C=1
A% + BZ + C2 + 2AB + 2AC + 2BC
a’+b%>+1+2ab+2a+2b

(a—b+c)? =

a?® + b% + c% — 2ab + 2ac — 2bc
(2a+b+c¢)? =

4a? 4 b? + c? + 4ab + 4ac + 2bc
(2a—b +3¢)? =

4a® + b? + 9¢? — 4ab + 12ac — 6bc
(x — 3y +22)* =

x? +9y? + 4z% — 6xy + 4xz — 12yz
(w? +2u—3)% =

ut +4u3 —2u —-12u+9



(k +m)3 =

)

3)

)

7)

8)

(a? - 1)° =

G® — Bt L [ —

(3-b)* =
27 — 27b + 9b% — b3

(x% — y2)3 =
x8 — 3x*y? + 3x2y* — y©

(4x3 + 5y%)3 =

Br—q)* —-(p—-29)7° =

A=k B=m
A2 +3.4°.B+3.4A.B*+ B3

k3 + 3k?m + 3km? + m3

2) (2+a)3=
8+ 12a + 6a? + a3

4 (2a—3b)3 =
8a3 — 36a?b + 54ab? — 27b3

6) x"—-1)°=
G B A A B |

64x° + 240x°y? + 300x3y* + 125y°

26p3 — 21p%q — 3pq? + 7¢3



9 x—-2P—-x(x+1Dx-2)=

10) (3x+2)3 =

1) Bx+y)-Bx—y)—Bx+y)*+Bx—y)* =

12) Bx+1) —CBx+1)*—-—Q2x+1)=

13) 2x—1)+@Cx+1)*—-Qx+1)-2x—1) =

—5x2 + 14x — 8

27x3 + 54x% + 36x + 8

9x?% — 12xy — y*

27x3 +18x% +x—1

8x3 —12x% +10x + 1



